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1. Which of the following statements is/are correct about the Taiping Revolution ?
i. The greatest of upheavals which has toppled the ruling class.
ii. Itlasted from 1850 to 1864, ranging over sixteen provinces and destroying more than

600 cities.
iii. 1t freed China from British domination.
A) Only i and ii B) Only iii
C) Only i and iii D) All of the above (i, ii and iii)

2. Which of the following statements is/are correct about French Revolution ?

i. The French Revolution constitutes the crowning achievement of a long economic and
social revolution that made the bourgeoisie the matter of the world.

ii. The Revolution of 1789 — 1794 marked the advent of modern society-bourgeois and
capitalist in the history of France.

iii. It brought an end to British domination in France.
A) Only iii B) Only ii
C) Onlyiandii D) None of the above (i, ii and iii)

3. Which of the following statements is/are correct about non-violence ?
i. For Gandhi, non-violence was a matter of principle.

i. For C.R. Das, Motilal Nehru, Jawaharlal Nehru, Maulana Azad, Sardar Patel and
Acharya Narendra Dev, it was a matter of policy.

iii. The adoption of non-violent forms of struggle disabled the participation of the mass
of the people.

A) Only i B) Onlyiand ii
C) All of the above (i, ii and iii) D) None of the above (i, ii and iii)

4. Which of the following statements is/are correct about the Indian National Congress ?

i. The Indian National Congress was founded in December 1885 by seventy-two political
workers.

ii. A.O.Hume, a retired English ICS Officer, played an important role in its formation.

iii. A powerful and long-lasting myth, the myth of ‘the safety valve’ has arisen around
this question.

A) Only i B) Only i
C) Only ii and iii D) All of the above (i, ii and iii)
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5. Which of the following statements is/are correct about Kerala ?
i. In 1981, the South Indian State of Kerala was among the poorest regions in India.

ii. In late 1970, by average income, Kerala was in the bottom third of India’s
thirty-odd States.

iii. In 1922, per capita income in the State was 50-60 percent higher than the national

average.
A) Only i B) Only ii
C) Only ii and iii D) All of the above (i, ii and iii)

6. Which of the following statements is/are correct about the travelogues of 19" century ?
i. Londonum Pareessum by G.P.Pillai.
ii. Romayathra by Mar Thomas Kuryalassery.
iii. Randam Romayathra by Mar Thomas Kuryalassery.
A) Only i B) Only ii
C) Only ii and iii D) Onlyiand ii

7. The lower portion of the atmosphere extends upto the height of 90 km from the mean

sea level is
A) Thermosphere B) Troposphere
C) Heterosphere D) Homosphere

8. Which of the following statements is/are correct about Topographic Map ?
i. The Survey of India is responsible for producing a Topographical Map.
ii. 1:1,000,000 scale is known as a Million sheet.
iii. In the 1:50,000 scale, contour interval is 20 meter.
iv. Latitudinal and longitudinal extension of Million sheets is 1 degree x 1 degree.
A) Only ii and iii B) Onlyiandiv
C) Only i, ii and iii D) Onlyii and iv

9. Identify the correct facts about the Great Plain of North India.

i. The largest alluvial tract of the world from the mouth of the Indus to the mouth of the
Ganga.

ii. The Bhabar is a narrow belt about 8 — 16 km wide.

iii. The Terai is a marshy tract marked by the re-emergence of the streams.

iv. The Bhangar is composed of newer alluvium above the level of flood plain.

A) Onlyiand ii B) Onlyiiandii  C) Only iv D) Only i, ii and iii
A -4-
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Which among the following statements is not correct ?
A) El Nino is a narrow warm current that appears off the coast of Peru.

B) The meeting place of southeast trade wind and northeast trade wind near the equator
is called ITCZ.

C) Jetstream is a band of fast-moving air found in the middle latitude at a height of about
12 km.

D) Clear sky, pleasant weather and low humidity are not the characteristic features of
the cold weather season.

Find out the wrong statement about Red loam soils of Kerala.
A) These soils do not occur in catenaries sequence along with laterite.
B) The soils red colour, is of hematite or anhydrous ferric oxides.

C) The rapid permeability of the surface soils is responsible for the characteristic
development of these loamy soils.

D) These soils found mostly in the southern parts of Thiruvananthapuram district.

Shahpur Kandi Dam Project situated at the Punjab — Jammu and Kashmir border is
located on

A) The Beas River B) The Ravi River
C) The Jhelum River D) The Chenab River

Which of the following statements is/are correct about market socialism ?
i. The term market socialism was coined by Prof. Oscar Lange.

ii. First experiment in market socialism is open door policy.

iii. India announced open door policy first.

iv. Experts consider market socialism is a political fallout of an economic
mismanagement.

A) Only i and iii B) Onlyiandiv
C) Only i, ii and iii D) Only i, iiand iv

Privatization of public sector business by selling a portion of their stock to the general
public is termed as

A) Disinvestment B) Globalization
C) Fiscal Reform D) Industrial Licensing
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Which of the following statements is/are correct about repo rate ?
i. Rate of interest paid by the Commercial Banks to Reserve Bank.
ii. The meaning of the term repo is re-purchase option.
iii. Rate of interest provided to Commercial Banks by the Reserve Bank.
iv. Repo rate is usually lower than reverse repo rate.
A) Only i and iii B) Only ii and iii
C) Onlyiandiv D) Onlyiand ii

Which task force firstly proposed the idea of a nationwide GST ?

A) Kelkar Task force on indirect tax in 2000

B) Chelliah Task force on indirect tax in 2000

C) Both A) and B)
)

D) None of the above

In connection with GST, which of the following statements is/are correct ?
i. One Nation One Tax

ii. Destination Based Tax

iii. Input Tax Credit

iv. Online Compliance

A) Onlyi B) Only iand ii

C) Only i, ii and iii D) All of the above

On 11" March 2024, India signed a landmark free trade agreement with
A) NAFTA B) EFTA C) EU D) ASEAN

Which of the following writ is considered to be a protection againstillegal and arbitrary
detention of a person ?

A) Mandamus B) Habeas corpus
C) Quo Warranto D) Prohibition

Which Article in the Indian Constitution deals with Power of Parliament to legislate
with respect to a matter in the State List in the national interest ?

A) Article 251 B) Article 262
C) Article 249 D) Article 271
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25.

Which of the following State Government recently filed a suit in SC (under Article 131)
against the National Investigation Agency (NIA) Act, 2008 claiming that ‘Police’ and
‘Public Order’ are the State subjects and States have the ultimate authority to make
laws related to it ?

A) Maharashtra B) Bihar C) Karnataka D) Chhattisgarh

Which of the following facts are not true with regard to the Election Commission of
India ?

i. The Commission delimits the boundary of assembly and Lok Sabha
Constituencies.

ii. President and Vice President of India elections are conducted by the Election
Commission.

iii. Article 321 of the Constitution speaks about Election Commission of India to
conduct and supervise elections in India.

A) Onlyiand ii B) Only ii and iii
C) Only i and iii D) All of the above (i, ii and iii)

Which of the following languages were granted classical language status in India ?
i. Tamil

ii. Malayalam

iii. Odia

iv. Kannada

A) Onlyiandii B) Only i, ii and iii

C) Onlyiandiv D) All of the above (i, ii, iii and iv)

Who authored the book “The Constitutional Name of India — From Earliest to Present” ?
A) Ashwaveer W. Gajbhiye B) Kancha llaiah
C) B. Shiv Rao D) Mahendra P. Singh

Who among the following are the beneficiaries of Abhayakiranam, a Social Welfare
Scheme of Social Justice Department of Kerala ?

A) Destitute widows B) Differently abled persons

C) Transgender students D) Children of victims of crime
-10-
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27.
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29.

30.
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Who among the following officers is the Appellate Authority in the Kerala Women’s
Commission under Right to Information Act, 2005 ?

A) Member Secretary B) Chairperson
C) Director D) Law Officer

Where is the Institute for Watershed Development and Management, Kerala
(IWDM-K) located ?

A) Kalamassery B) Cherthala
C) Neyyattinkara D) Chadayamangalam

Which of the following hazards comes under the definition of “disasters” according
to The Disaster Management Policy, Kerala, 2010 ?

i. Hydro meteorological disasters
ii. Geologically related disasters
iii. Biologically related disasters
iv. Man-made disasters
A) Only ii, iii and iv B) Only ii and iv
C) Only i, ii and iii D) All of the above (i, ii, iii and iv)

Which of the following is a programme organised by the Kerala State Literacy Mission
(KSLM) in coastal and tribal-dominated areas in eight districts with the aim of shaping
informed and independent citizens ?

A) Pauradhwani B) Aksharasagaram
C) Vayomithram D) Thirumuttam

Which of the following statements is/are false about Kerala Planning Board ?
i. It works as an advisory board.

ii. It was formed in 1967.

iii. Itis a constitutional body.

iv. Chief Minister is its Chairperson.

A) Only ii B) Only ii and iii

C) Only iii D) Only i

Which of the following mechanism was introduced by the Govt. of Kerala (E-governance)
which provides citizens the opportunity to pay all taxes and other financial dues to
Government ?

A) K-BASE B) IKM C) FRIENDS D) SPARK
-12-
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32.

33.

34.

35.

36.

37.

In which district of Kerala is the Kerala Administrative Tribunal situated ?
A) Ernakulam B) Thiruvananthapuram

C) Kozhikode D) Thrissur

Which of the following statements are correct about Kerala Administrative Tribunal ?
i. The Kerala Administrative Tribunal came into existence with effect from 26-08-2010.
ii. Registrar is the Administrative Head of the Tribunal.

iii. Chairman is at the helm of affairs of the Kerala Administrative Tribunal.

iv. There are three Deputy Registrars to assist the Registrar.

A) Only ii and iii B) Only i, ii and iii

C) Only ii, iii and iv D) All of the above (i, ii, iii and iv)

In Kerala, who among the following nominates a Committee on Subordinate

Legislation ?
A) Speaker of the Assembly B) Governor
C) The Chief Minister D) None of the above

Who among the following wrote the Book “Limits to Kerala Model of Development” ?
A) K. K. George B) J. Devika
C) M. A. Oommen D) Hariharan P. V.

Which of the following district in Kerala became the first district of India with Complete
Rural Broadband Coverage ?

A) Ernakulam B) Thiruvananthapuram

C) Palakkad D) Idukki

Name the largest and smallest bone in our body.
A) Tibia and Incus B) Femur and Stapes

C) Femur and Incus D) Tibia and Stapes
-14-
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32. 3e0¥ BEYT 9, 0OTPOIN FeTYT 0 WG, BT ?
A) TFBOO0 B) 200x=z03R)T0
C) dnewdnca® D) &3nrT®

33. 3eT¢ BEYTHZT 9, CDTIOTYOD BB B3 FYNT OIS TePFNE FOOTINGS ?
I BeTYT BEPTIZF 59, 0300BHCI 26-08-2010 00T 232078 200,
ii. 028 0° 99, 0ITOOTLCD BT m&)éxqomﬁ@ad.
ii. e:ac;dida 3eTS 3OS meso:bmocsg?wo wgsmcmf zﬁamﬁsﬁ &@@@Dd.
iv. @ﬁm@cﬁﬁ RTO03 TITED FARTO w@—@zﬁm@vﬁ@@zﬁ
A) i D020 i BN, B) i, ii 020 iii ®»E,
C) i, iii &0=0 iv &g, D) &0edT &3 (i, i, i 020 iv)
34. 3eTYTY, FPNTVTQY, C3RT BHES TIFINY FSIR0TITY, TOTITIEF TS TWRTITT ?
A) FOFTRLIOD & TTO B) oot wmoom

C) =02),300¢8, D) 0edT odnTe &),

35. 38 IFNTHOQ, O’ | 40 FeTY TWRTES® B5° BROTR0E" D0 PP TR, WIWeSTO

o30TO ?
A) 3. 3. 3o B) 2. Zewe
C) 0. . V=T* D) 0®0S* . Q.

36. FeTVT OIS 23 HOTREIF™ T19,S0¢E9 23D, T3 LI, 0T 339, ) TRODTS 41T SR BGOINNT3 2
A) QDFBOO0 B) &0oxmz08R)c0

C) momE* D) a@og

37. T8 BTTYTW €& TR [0 &8 e3g BT, BROR.

A) 3037 R0 VOBF B) FR00,0° R B¢
C) FRn,T° R8Y AosF* D) 32903m R8) AT

A -15-
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38. Match the following Vitamins with their deficiency diseases.

39.

40.

41.

42.

1. Vit. A i. Rickets

2. Vit. B12 ii. Scurvy

3. Vit.C iii. Night Blindness

4. Vit. D iv. Anaemia

A) 1—i,2—ii,3—iii,4—iv B) 1-ii,2—1i,3—iv, 4 —iii
C) 1—iii,2—iv,3—ii, 4 —i D) 1—iv,2—1i, 3—ii, 4 —ii

Match the diseases with their mode of causes.

1. Cholera i. Vector borne

2. Dengue ii. Water borne

3. Leptospirosis iii. Food borne

4. Hepatitis A iv. Zoonotic

A) 1-i,2—ii,3—iii,4—iv B) 1—ii,2—1i,3—iv, 4 —iii
C) 1—iii,2—iv,3—ii,4—i D) 1—iv,2—i, 3—ii, 4 —iii

Name the Scheme launched by Kerala Social Security Mission for people with autism.

A) Awaz B) Spectrum C) Subhayatra D) Sukrutham

Hypokinetic disease means

A) Disease due to low metabolic rate
B)

C) Disease due to inactivity/low level of habitual activity
D)

Disease due to hypotension

Disease due to high level of metabolic rate

Dimensions of health are
i. Physical, mental, social
ii. Emotional, spiritual, vocational
iii. Chemical, biological, physical
iv. Ecological, emotional, mental
A) iandii B) iandiii C) iiiand iv D) iiand iv
-16-
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38. 3INT LEVITFRY, BRNT FRTICWOT YVOEMIT FIRSNTHONT TLODR.

1. Q30 A I OFes

2. QT B12 ii. oo

3. Qe C iii. 098, BoTVEBI

4. QWD iv. 0888

A) 1-i,2—ii, 3—iii, 4 —iv B) 1—ii,2—1i,3—iv, 4 —ii
C) 1—iii,2—iv, 3—ii, 4 - D) 1—iv,2—1i, 3—ii, 4 —iii

39. SRenERy SHNY BORT TNG,FER0OR FR0DA.

1. 30T L. $FO° Boweews
2. Bdonr, ii. 0T WopeT
3. Jpadeenz iii. ©T0T BRI
4. TTER iv. SRdReedsE
A) 1—-i,2—ii,3—iii,4—-iv B) 1—-ii,2—1i,3—iv, 4 i
C) 1—iii,2—1iv,3—ii, 4 - D) 1—-iv,2—1i,3—ii, 4 —ii
40. =70 (3-90eZ) TRODTOT WION FeTY TOBRET LIT3,T0 CORT® T3, TORIT 03RERFOITY
TROR.
A) e B) A= C) 3o3c3mng, D) =03,5%7°

M. FRpeE[ess BT 20TT
A) 3ED WECIRTEOR T,:I9E900T YVOERNOT TREN
B) @30T T°I0T puotmndsm deen
C) a%wﬁ/a@m TOLWTT IR 2BITEIFOU0TIIN YVOEFNOI Teen
D) 3233 308333 13085030 ,339e000TN $V0ERNOES deen

42. e.-sdraerﬁascs 303090
i. Cgéos, DRTIT, TORIVT
ii. mwmég, Qﬁ@géj, %gwd
iii. 0om03RB, &;@6, z%%oﬁ
iv. 0T, mﬁm%ﬁ, BRDT
A) i o=yl B) i 0= iii C) iii 2020 iv D) ii 020 iv
A -17-
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43.

44,

45.

46.

47.

48.

49.

Which Union Ministry organised the Technology and Bharatiya Basha Summit ?
A) Ministry of Culture

B) Ministry of Skill Development and Environment

C) Ministry of Education

D) Ministry of Science and Technology

What is ‘BioTRIG’ ?

A) Waste management technology

B) Method used for environmental conservation

C) Tank cleaning robot
)

D) Technique to remove pest from crop

Two objects are moving in circular paths having same radius and their periods are
in the ratio 1 : 2. Then their centripetal acceleration will be in the ratio

A 2:1 B) 1:2 C) 4:1 D) 1:4

Which of the following is/are incorrect statement/s ?
I. Newton’s third law of motion is applicable irrespective of the nature of the forces.
Il. Action and reaction always act on two different bodies.

[ll. The force of action and reaction cancel each other.

IV. No action can occur in the absence of a reaction.

A) Both land Il B) Only llI

C) Both lll and IV D) Only Il

A long cylindrical glass vessel has a small hole of radius ‘r’ at its bottom. The depth
to which the vessel can be lowered vertically in the deep water bath without any

water entering inside is . (Surface tension and density of water is T and p
respectively)
A) 4T/prg B) 3T/prg C) 2T/prg D) T/prg

The discovery of gravitational waves provided evidence for the existence of
A) Black hole B) Dark energy
C) Neutrinos D) White Dwarf

The Universal Gas Constant (R) has the units of

A) L/mol K B) Atm L/mol K C) J/mol K D) m°3Pa/mol K
-18-
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45.

46.

47.

48.

49.
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O3S Fe0T, Rz 00 30T, 2T WO LT LT oM@ e303RCIAT ?
A) NON 8 F23o000

B) @5% @zpwe)@@ 208 TOIT Fedmow0RD

C) égsa 230000

D) 233 @020 08,23 T Fuwmecd

‘BioTRIG’ 2omdesd ?

A) To,% AT 30,8

B) 0T HoTE = RIS 5o

C) 9,05 :szsmww Srewdnees

D) zﬁ%?oibod aemm BRTOTOBOS SO,

DT TR 2,083 &2, BROVTII 3 T9TTT THNTY, ORI s weIne IO
1:2 O0TBTYTTR. SN R)NY Fe0m9, 0D BENTFES 83 BROTBTYTOZT

A 2:1 B) 1:2 C) 4:1 D) 1:4

BINTPNTY, G0 /) BT B/ N0 2
| SR, 85" 3003 [BwedFe oMY WONY FTRTZI), c?%bxd Solevsaviiag
1. 8,035 3030 ,83,030 CIRTNOR QTTED QDWT, WRINY 2008 FCF AT LRITS.
1. 8,030 &) &,&8,030030 W) TT d daﬂome?ﬁoé‘cﬁ
V. 5,88,03003 eﬁmw%&\%m@qo\v@de Jo:’bodoo 0PI .
A) 1 30=) Il Ho@Ee B) Il 873,
C) Il =2 IV oz D) Il =%,

T I0I AO0ETIFTITE MOWT To8,0300 WWT FFPNTY, ‘I’ 8% T 363 TOG,™IY,
MOade BYROT VOTE, a’m@&ammﬁ OSnRR)TIe JeTO mfﬁ %, ﬁeé S8 T3, oﬁam

©0WN @e;% QYRWTOTOT efe;@ - (Boeg [ wEr® waég Qe03T moc_s)éodaa
3,30mon T még p SNT)

A) 4T/prg B) 3T/prg C) 2T/prg D) T/prg
mdomswrs@oja OSNY ST d@ S @%izjé w\)mﬁmf@{ WTNRZBD.

A) W, T TReS B) moF 33

C) 3r¥edne D) 3 mz'e

TTEYT 0 ATE (R) PLBATI) BRODT.

A) L/mol K B) Atm L/mol K C) J/mol K D) m®Pa/mol K
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50.

51.

52.

53.

54.

55.

56.

57.

The least reactive metal among the alkaline earth metals is

A) Potassium B) Beryllium C) Calcium D) Sodium

Which of the following statement(s) is/are correct about pH ?
i. pH measures the concentration of Hydrogen ions in a solution.
ii. pH is a logarithmic scale.
iii. pH of a 0.01 M solution of hydrochloric acid is (—2).
A) Only ii and iii B) Only i and iii
C) Onlyiandii D) All of the above (i, ii and iii)

What is the chemical symbol for the synthetic element with atomic number 115,
named after the town where the discovery was made ?

A) FI B) Lv C) Nh D) Mc

Name the folk art form of Kerala which is also known as ‘Kaali Nadakam’.
A) Padayani B) Poorakkali C) Thira D) Mudiyettu

Which poem of Kumaran Asan celebrated its centenary in 2023 ?

A) Prarodanam B) Karuna C) Veenapoovu D) Duravastha

Who translated the Novel Aarachar into English ?
A) Bhageerathi Amma B) J. Devika
C) Asha Menon D) K.R. Meera

Which one of the following States hosted 37" National Games ?
A) Uttarakhand B) Chhattisgarh  C) Goa D) Kerala

‘Sarvamatha Sammelanam’ under the leadership of Sree Narayana Guru at Adwaitha
Ashram, Aluva was held on

A) March 3 and 4, 1924

B) March 3 and 4, 1914

C) November 1 and 2, 1918
)

D) November 1 and 2, 1911
-20-
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50. 520¢03) 41003 CRtENTY, FRR 3,88, 08RFFHINTOT Crew
A) TpEDA0ITF B) 209030z C) 5,900 D) Zne&oddo

51. pH 3030 83 3$NT 0N BeP/ned FOC3RPNT [ ?
. pH ©39,360039, B @R, eRT° ©oIRTONY F905, 00T, BPo0T3.
ii. pH 20T CPNOTa0T® :é;ecf SNT.
iii. &,30,08R0%° w2 0.01 M ©39,:363%3 pH (-2).
A) i 30 il =93, B) i &%032 iii &3,
C) i =08 ii &, D) S0¢O= 20530 (i, ii 3022 iii)

52. w@mﬁdw@t BIRBT mgd mmq IR0 BROTETINTIT TTI0E0 xosﬁé 115 QT0W B0 e
OO0 TIRROT ?5&;% QIR ?
A) FI B) Lv C) Nh D) Mc

53. ‘59 JoWFO' 0TI FTCW RN FeTFT LPTITT T T FoTHY, HAOA.
A) TEODS B) Spoge C) &o» D) s20madoe),

54. 2023 TQ Bo[NT® BAT® ©:30 03N TR0 B, ITBRILEITHR), BORBD ?
A) T,BpcTsRnT B) sdome C) Qemmospwn) D) @boosmme,

55. ©000" FoT30WO0ITY, QONFT LROTDATRTI CIRTO ?
A) $PNeTS &) B) 8. deawo
C) =70 03 D) 3. 378, Q0eTo

56. FYNT CI3 TozeY 37 e TR 3, CTIRBLIBI) BOIRELIIT ?
A) @800 B) geex'ng® C) rneew D) 3ecs

57. ST ©T 8 $3,WTY, 3¢ ToT20I NOTING S¢,TTY ‘ARFWOT FHYeFTO’
ToT0 JELR.

A) BowsE 3 w30 4, 1924

B) mme 3 %02 4, 1914

C) FR0ec* 1 3082 2, 1918
)

D) SK0wo® 1 83030 2, 1911
A -21-
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58.

59.

60.

61.

62.

63.

64.

65.

Who authored ‘Before Memory Fades : An Autobiography’ ?
A) Kapil Sibal B) Shashi Tharoor
C) Fathima Beevi D) Fali S. Nariman

The venue of 108" Indian Science Congress was
A) Kanpur B) Bengaluru
C) Nagpur D) Kozhikode

Which OSI layer is responsible for the encryption and decryption functions ?
A) Session Layer B) Presentation Layer

C) Transport Layer D) Network Layer

How many bits should be there in the logical address, if there are 32 segments with
each of size 1KB ?

A) 15 bits B) 12 bits C) 14 bits D) 10 bits

Which of the following is the component that uses battery power to store the
configuration details of a computer ?

A) BIOS B) RAM C) 0S D) CMOS

Who is the first woman to hold the rank of Subedar in the Indian Army ?
A) Rajeshwari Kumari B) Shreyasi Singh
C) Preeti Rajak D) Manisha Keer

Which is the fastest supercomputer in India ?
A) PARAM 8000 B) PRATYUSH
C) AIRAWAT D) PARAM Shivay

Under the provisions of The Kerala State Right to Service Act, 2012, who is
responsible for delivering the services within the specified time ?

A) The Chief Minister B) The Designated Officer

C) The Appellate Authority D) The local MLA
2o,
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63.

64.

65.
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‘WTPET® TR ﬁea;: &50° 5e30200300N,&’" LTTWITO 03IRTO ?
A) BLS® RWSF B) 3% 38T
C) Hoé&= e D) 350® 7. 00x07°

108 e 1708603 S TN, A S B

@

A) 5300 B) ongndd
C) somds D) 3nevdnes®

AT B Re8,TD* THORFNEN 0398 OS| SecddT® 598N ?
A) FFS* SeodT B) ® %ol Secdoo
C) @,3r ew's Secddo? D) Jezrwets SeoddT®

$o85°% QPATY, TKB o8, 39, 32 1nnvss, md WL QTeiesd ?
A) 15 2&3*nsd B) 12 w&*nsd C) 14 we3*nsd D) 10 2&3*nsd

YNSRIV, F0TR, WO IATSETT QORI RO, R0 13,130 B O WIROT P8
BRI ?

A) BIOS B) RAM C) 0S D) CMOS

PRTEecD FeSodQ BoedernD’ TOT 03T, WWOTOAT FRTO & 03RT ?

A) @23@5036 BO=IO B) 3,ccr aon®
C) &,¢8 w7 D) =02¢ezo 8eT®

TS, 658 BN ARTO® F0TR,WT* CAPTT ?
A) FS= 8000 B) BIR,T
C) 200wz D) BT dw00sr

%o oo, pSINoND) aa% Fo0WT, 2012 T AWOTINT WD, @@ro—-:& TROONTRSM ﬂeﬁﬁ@ﬁg{
BLILTLD CERTY LWETILITTINTOTIT ?
A) 080,008, B) 2a3»e233 296390
C) R0eqID 7, (58 D) x@g?eodo SOXT
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66.

67.

68.

69.

70.

Which are the socio-cultural identities that explicitly included in the definition of a
transgender person in the Transgender Persons (Protection of Rights) Act, 2019 ?

A) Hijra, Kinner, Aravani, Jogta
B) Kinner, Naga, Brahmin, Aravani
C) Jogta, Kinner, Brahmin, Hijra
D) Aravani, Naga, Kinner, Hijra

According to the Sexual Harassment of Women at Workplace (Prevention, Prohibition
and Redressal) Act, 2013, which of the following is true about the protection provided
to employees ?

A) Protection is limited to those who are remunerated

B) Protection is provided regardless of the type of employment or payment method
C) Only employees with express employment contracts are protected

D) Only permanent employees are covered

According to the definition provided in the Juvenile Justice (Care and Protection of
Children) Act, 2015, what does “begging” include ?

A) Only soliciting alms in public places

B) Exposing or exhibiting sores, wounds or deformities for the purpose of obtaining
alms

C) Both soliciting or receiving alms and exposing deformities
D) Only soliciting alms on social media

Under what condition can the Central Vigilance Commission extend the investigation
period as per the provisions of the Central Vigilance Commission Act, 2003 ?

A) For any reason without recording, it in writing

B) Only for an additional period of six months with reasons recorded in writing
C) For any duration as decided by the Commission without any justification

D) Only if the Delhi Special Police Establishment requests it

In which year the Maintenance and Welfare of Parents and Senior Citizens Act was
passed ?

A) 2004 B) 2005

C) 2006 D) 2007
-24-
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2,800 DN B3¢ (TN TTF) 590003, 2019 T B Seadd QoN 3,30 39,809, ITY FFz50N
WINROBRTO ROTINET ~FD0R, &F MITOTOMED CIRI) ?

A) &3, $3T°, TR, wEeeny

B) $3°°, mﬁ W&, TR

C) ﬁfae@, 3T, W2, %5, &,

) ©TTES, TN, FT°, Sty

)

3ORT mfm? BT G oNT $TIBOY (SHMeF, dReT 08 WOTT) 50T, 2013 T
®,590 emcira eNANOR WBNIRT 6596053 wﬁ 33 IPNTRPYNTE_ 03RO I
A) oL BHECIN[ION TFE Ae0TTONT
) mdfageﬁd %,390 YT T3S amsm%{ eﬁ-@ﬁdoﬂae dgﬁojamq WBNFRMOZT
C) ATT VTR, o7 LTOTNFS) TLONTIT YVTR, NNTFS) BRE, TITLMIZT
D) 2590300 FPBTTO [T, oyt LITROTIT

&

B

mﬁi&@s B X (msﬁe; eﬁ%% 202D dﬁﬁ) Fo003, 2015 39, wBNIRT mﬂm@d %,30

“zpam@sé” DTTJY, wERRORT ?

A) TOTFRIT %@ﬁ@@q BN, YT 23T

B) zpi ofosgt TTWO30= emcg eaﬁaﬁﬁ aasa%a NED, MOOONED 95z amme;mq WEHTONTBRROR)T
L0 T, TOFROR)TIO

C) ?,Di IeTORYTO T %&esém@cﬁo EASCH) amwm;s% WSHTONTRROTY)TID

D) moemns SRg@0nY, SRS, ?,fsii W)

%083, RST TORI® ©;T° , 2003 T AOFINY T59T $¢03, w301} 8 SodReny) o
RENSCNQ BT SWHOTY, DFORLTITO ?

A) WTBEIRODY, TDOFOTOT OIRTTe TOTEIBR,

B) 20=edriodd ol dRent 5o0enEnoln B0 BT Sone BN wE,

C) cInm)de 0TS QR sodnens) ATFOATOS c3RTYTe W=

D) 3z9 Q3R Fpdex® =5,:7 5000 DT0SATT BRE,

kD)

)
)
)
)

TPEWTTO WoTY HOOI TPNOTT AWFHH W[WITY T €D FOCWTWONTY, CINT JRFTY,
L0NETOTLDCABY ?

A) 2004 B) 2005
C) 2006 D) 2007
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71.

72.

73.

74.

75.

76.

77.

78.

79.

80.

1 1
Mean of a and 2 is M. Then which of the following is the mean of a® and — 7
a

A) M? -1 B) 2M® — 1 C) 3M? -1 D) 4M® — 1

Actual weight of a rice bag is 50 kg. In a hurry, it was weighted as 50.5 kg. The error
percentage is

A) 2% B) 1.5% C) 1% D) 0.5%

A printer numbers the pages of a book starting with 1 and uses 3189 digits in all.
How many pages does the book have ?

A) 1074 B) 1064 C) 1054 D) 1044

If KEDGY is coded as EKDYG, then LIGHT will be coded as
A) THGIL B) ILGTH C) ILHTG D) ILGHT

21001 | 5999
The value of 51000 _ 5998 IS

A) 1 B) 3
C) 5 D) None of these

If a¥=b, b’ = c and ¢” = a, then the value of xyz is
A) 0 B) 1
C) 2 D) None of these

If the selling price is doubled, the profit triples. Then the profit percent is
A) 300% B) 200% C) 150% D) 100%

A metal sphere of diameter 12 cm is melted to make a cone with base same as
diameter. Then the height of the cone is

A) 12cm B) 18 cm C) 24cm D) 30cm

A train runs at a speed of 90 kilometre per hour and crosses a bridge of length
150 meter in 15 seconds. Then the length of the train in meter is

A) 175 B) 200 C) 225 D) 250

The unit’s digit in the product of first 50 odd natural numbers is

A) O B) 1 C) 3 D) 5
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1 1
71. a3 3 S=RER M SNG. TIMOTT FLNTRNTD, 03RR)TD a’ DB —5 3 mqsmﬂcﬁ ?
a

A) M? -1 B) 2M? — 1 C) 3M? -1 D) 4M? — 1
72. 98 We0n QT BRF 50 .28, BNT. FTBO00DE 50.5 3.23. 0T TRT TRTLRO. TRERD
BeFTTOTOTO
A) 2% B) 1.5% C) 1% D) 0.5%
73. %O0T &,080° 1 DOTI 39, TOLITONI T[T @ésr{e;s;% xo@%m@mgd ENVICY) u%ﬁoﬁnﬁ 3189
BOFNFTY, WIRITT. TV FFTR) R0, PUNII), TROVT ?
A) 1074 B) 1064 C) 1054 D) 1044
74. KEDGY @omdsaq EKDYG «20%0 5088333, LIGHT @omdsaq &ert B0FeSTWTOT
A) THGIL B) ILGTH C) ILHTG D) ILGHT
e 21001 5999 o
. 1000 <998 ©
21000 _ 5998 s
A) 1 B) 3
C) 5 D) aRndd odnp)Ee €,
76. @"=b, b’ = ¢ W ¢* = a SNTT xyz T TP
A) 0 B) 1
C) 2 D) a@n¥d cdnm)ar 8
77. [IRTHIT 33 Qﬁﬁasarﬁmoc?d, CRLIR) RTO w%éa@wﬁagd TOMOTT Je3mo S0
C) 150% D) 100%

A) 300% B) 200%
78. 12 Zo.a0e. ngxcs R r{raee;wmq mﬁdoéoﬂoe 3@555& TLROTOD 50505@@ TRTOD
sdmmmgd. TOMOTT T0BONI DT

A) 12 Fo.0e. B) 18 Zo.we.
79. G nownt 90 3CpeesT® SentQ, WORTT @2 15 AFomNTY, 150 ewT* LI m

C) 24 Fo.we. D) 30 Fo.qwe.

R B30T, TWOLITT. TIMTT T IY, G OT Ty

A) 175 B) 200 C) 225 D) 250
80. RIrT® 50 3% QDINDIAL méﬁ?smf rbsae)ngwe?qa;msd 903
A0 B) 1 C) 3 D) 5
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81.

82.

83.

84.

85.

86.

87.

88.

89.

90.

John, as well as his brother in honesty and hard work.
A) Believe B) Believes C) Believed D) Believing

Which of the following sentences contains a gerund ?
A) He is smoking a cigarette.

B) Kiran is standing outside the waiting room.

C) Swimming is a good exercise.

D) Screaming aloud, he ran out of the room.

Choose the correct sentence from the choices given below.

A) He entered the room. B) He entered into the room.
C) He entered by the room. D) He entered in the room.
If he wore a lifebuoy, he

A) Will not drown B) May not drown

C) Would not drown D) Would not have drowned

Convert the following sentence into reported speech.

Sheela asked me : “Do you believe in the essential goodness of humanity ?”

A) Sheela asked me whether | believed in the essential goodness of humanity.
B) Sheela asked me whether he believed in the essential goodness of humanity.
C) Sheela asked me that | believed in the essential goodness of humanity.

D) Sheela asked me whether | believe in the essential goodness of humanity.

Dora is a scientist who is interested in the fossil history of life.

Choose the suitable one-word expression for the parts given in italics.
A) Anthropologist B) Archaeologist C) Gynaecologist D) Palaeontologist

What is the meaning of the idiom, “kick the bucket” ?
A) To lose a game B) To die
C) To hit the target D) To curse

There was a rumour about an advancing army.
Choose the most appropriate word opposite in meaning of the word given in italics.

A) Disadvancing B) Receding C) Retreating D) Proceeding
“Any way, we have to this problem.”

Choose the appropriate phrasal verb from the choices given below.

A) Sort out B) Find out C) Seek out D) Put out

What is the expansion of “e.g.” meaning “for example” ?

A) Exempli gratuise B) Example gratui

C) Exaea gratia D) Exempli gratia
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